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fgUnh 

1- 'kCn ^vkpj.k* dk D;k vFkZ gksrk gS\ 

 (a) pky  (b) iSj    

 (c) iz.kke   (d) O;ogkj    

2- okD;ka’k ^tks firk dk HkDr gks* ds fy, ,d 'kCn dk 

iz;ksx djksA 

 (a) vkKkdkjh   (b) lR;oknh   

 (c) fir`HkDr   (d) Hkxrflg¡   

3- ^xqykc* D;k gS\ 

 (a) feBkbZ   (b) Qwy   

 (c) lCth    (d) cPps dk uke   

4- fjDr LFkku HkjksA 

 [kkuk cgqr -------------- FkkA 

 (a) lq’khy   (b) I;kjk   

 (c) Lokfn"V   (d) lqUnj    

5- lgh dFku dk p;u djksA 

 (a) o`{k gesa izk.kok;q ugh nsrsA   

 (b) gesa o`{kksa dks dkVuk pkfg,A   

 (c) o`{k o"kkZ ykus esa lgk;d gksrs gSaA  

 (d) o`{k gesa /kwi ls ugh cpkrsA   

6- 'kCn ^izk.kh* ds cgqopu 'kCn dk p;u djksA 

 (a) izk.k   (b) izk.kksa   

 (c) izkf.k;ksa   (d) izk.kh;ksa   

7- fdl ns’k dks n~ohiksa dk ns’k dgk tkrk gS\ 

 (a) Hkkjr   (b) vesfjdk   

 (c) ikfdLrku   (d) tkiku   

8- 'kCn ^Qwy* ds leku vFkZ okyk 'kCn dkSu&lk gS\ 

 (a) lwjt   (b) lqeu   

 (c) vEek   (d) Hkzkrk   

9- ^o.kZ* ds fdrus Hksn gksrs gSa\ 

 (a) ,d    (b) nks   

 (c) rhu   (d) pkj   

10- 'kCn ^ekyh* dk fyax cnyksA 

 (a) ekyh th   (b) ekfyu   

 (c) ekyhu   (d) ekfyd   

11- 'kCn ^dksey* ds foifjrkFkZd 'kCn dk p;u djksA 

 (a) papy   (b) dBksj   

 (c) dq:i   (d) Qwy   

12- 'kq) 'kCn dk p;u djksA 

 (a) izekRek   (b) vo’;drk   

 (c) ehBkbZ   (d) xqIr   

 

 

ENGLISH 

13. What is the meaning of the word 

‘Education’? 

 (a) i<+kbZ      (b) f’k{kk    

 (c) i<+uk       (d) iqLrdsa     

14. Which of the following is a colour? 

 (a) Bow     (b) East    

 (c) Salt       (d) Green     

15. Where does the sun rise? 

 (a) East     (b) West    

 (c) North       (d) South     

16. We travel in: 

 (a) State    (b) Train    

 (c) Classroom       (d) Chair     

17. Where do we post our letters? 

 (a) Postman     (b) letter-box    

 (c) Envelops     (d) Bag     

18. Meaning of the word ‘Shake’ is: 

 (a) /kdsyuk     (b) lquuk    

 (c) fgykuk       (d) [kkyh     

19. Fill in the blank. 

 Passengers are ……….. newspapers. 

 (a) driving      (b) waiting    

 (c) eating       (d) reading     

20. Change the number of the word ‘Brother’. 

 (a) Brother     (b) Sister    

 (c) Brothers       (d) Father     

21. What is the meaning of the word ‘Their’? 

 (a) ogk¡     (b) mudk    

 (c) mldk       (d) ;gk¡     

22. Find out the word, the spelling of which is 

wrong. 

 (a) What     (b) Whem  

 (c) White      (d) Where  

23. What is the colour of sky during night? 

 (a) Blue    (b) Brown  

 (c) Red      (d) Black   

24. Opposite of the word ‘First ’is:  

 (a) Second    (b) Third  

 (c) Fourth      (d) Last  
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25- fuEu la[;kvksa esa ls lcls cM+h la[;k dkSu&lh gS\ 

 (a) 6809     (b) 9608  
 (c) 9086      (d) 8906  
26- nks vadksa dh cM+h ls cM+h ,oa ,d vad dh cM+h ls 

cM+h la[;k dk xq.kuQy Kkr djksA 

 (a) 891     (b) 819   
 (c) 198      (d) 918   
27- 240 larjksa dks 16 fMCcksa esa cjkcj&cjkcj la[;k esa 

Hkjk tkrk gSA izR;sd fMCcs esa fdrus&fdrus larjs j[ks 

x,A 

 (a) 16   (b) 13   

 (c) 15   (d) 14   

28- jkf’k 625 :i;s 35 iSls vkSj 36 :i;s 5 iSls dk 

;ksx djksA 

 (a) : 661-40   (b) : 661-85  

 (c) : 660-40   (d) : 630-71  

29- xzke dks fdyksxzke esa cnyus ds fy, xzke okyh la[;k  

 dks ------------ ls ------------ fd;k tkrk gSA 

 (a) 100] Hkkx   (b) 1000] Hkkx  

 (c) 100] xq.kk   (d) 1000] xq.kk  

30- ?kM+h esa ?kaVs okyh lwbZ }kjk ,d fnu esa -----------  

 pDdj iwjs fd, tkrs gSaA 

 (a) ,d   (b) nks   

 (c) ckjg   (d) pkSchl  

31- fuEu esa ls dkSu&lk fodYi ?kVrs dze esa gS\  

 (a) 
 

 
, 
 

 
, 
 

 
, 
 

 
, 
 

  
    (b) 

 

 
, 
 

 
, 
 

 
, 
 

 
, 
 

  
   

 

 (c) 
 

  
, 
 

 
, 
 

 
, 
 

 
, 
 

 
    (d) 

 

 
, 
 

 
, 
 

 
, 
 

  
, 
 

 
   

 

32- og fHkUu fy[kks ftldk va’k 17 ,oa gj 19 gksA 

 (a) 
  

  
     (b) 

  

  
     

 (c)  
 

  
     (d) buesa ls dksbZ ugha 

33- nks la[;kvksa dk xq.kuQy 2790 gSA ;fn muesa ls ,d 

15 gks] rks nwljh la[;k Kkr djksA 

 (a) 185      (b) 186   
 (c) 187      (d) 190   

34- ;ksxQy Kkr djksA  
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 (c) 
 

  
      (d)  1   

35- 6 ?kaVs 50 feuV dks feuVksa esa cnyksA 

 (a) 410 feuV   (b) 360 feuV  

 (c) 650 feuV   (d) 310 feuV  

36- fuEu esa ls dkSu&lk fodYi xksykdkj ugha gS\ 

 (a) xsan   (b) xqCckjk  

 (c) Xyksc   (d) pwM+h   

 
25. Which is the largest number among the 

given numbers? 

 (a) 6809     (b) 9608  
 (c) 9086      (d) 8906  
26. What is the product of the greatest two 

digit and one digit number? 

 (a) 891     (b) 819   
 (c) 198      (d) 918   
27. 240 oranges are to be packed equally in 16 

boxes. How many oranges are there in 
each box? 

 (a) 16     (b) 13    
 (c) 15      (d) 14    
28. Add the amounts 625 rupees 35 paise and 

36 rupees 5 paise. 

 (a) Rs 661.40    (b) Rs 661.85  
 (c) Rs 660.40     (d) Rs 630.71  
29. To convert grams into ‘kilograms’, we ……  
 the number of grams by ………… 

 (a) Divide, 100     (b) Divide, 1000    
 (c) Multiply, 100   (d) Multiply, 1000  
30. The hour-hand completes ……….. rounds 

in a day. 

 (a) One     (b) Two  
 (c) Twelve      (d) Twenty Four  
31. Which of the following options is in 

decreasing order? 
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32. Write the fraction in which numerator is 17 
and denominator is 19. 

 (a) 
  

  
     (b) 

  

  
     

 

 (c)  
 

  
      (d) None of these 

33. The product of two numbers is 2790. If one 
of them is 15. Find the other number. 

 (a) 185      (b) 186   
 (c) 187      (d) 190   

34. Find the sum.  
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     (b) 
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 (c) 
 

  
      (d)  1   

35. Convert 6 hours 50 minutes into minutes. 

 (a) 410 Minutes    (b) 360 Minutes  
 (c) 650 Minutes    (d) 310 Minutes  
36. Which of the following is not spherical in 

shape? 

 (a) Ball      (b) Balloon  
 (c) Globe      (d) Bangle  
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37- v.Ms ----------- dk izeq[k L=ksr gSaA 

 (a) dkcksZgkbMªsVl   (b) izksVhu  

 (c) foVkfeu   (d) dSfYl;e  

38- fjDr LFkku HkjksA 

 lk¡i ds ------------ gksrs gSaA 

 (a) cká dku   (b) vkarfjd dku  

 (c) nks dku   (d) dku ugha  

39- fdl ra= ds n~okjk vif’k"V inkFkZ gekjs 'kjhj ls 

ckgj fudkys tkrs gSa\ 

 (a) mRltZu ra=   (b) 'olu ra=  

 (c) ikpu ra=   (d) dadky ra=  

40- larjs] uhacw] vkaoyk bR;kfn ------------ ds izeq[k 

L=ksr gSaA 

 (a) foVkfeu ,   (b) foVkfeu ch  

 (c) foVkfeu lh   (d) foVkfeu Mh  

41- i`Foh dk 70 izfr’kr Hkkx --------------- ls <+dk 

gqvk gSA 

 (a) ok;q   (b) ty   

 (c) vkdk’k   (d) ioZrksa  

42- xje djus ij ty ----------- esa ifjofrZr gks tkrk 

gSA 

 (a) cQZ   (b) ok"i   

 (c) Bksl   (d) buesa ls dksbZ ugha 

43- gekjs 'kjhj esa jDr dks 'kq) djus okyk vax dkSu&lk 

gS\ 

 (a) ân~;   (b) xqjns   

 (c) QsQM+s   (d) buesa ls dksbZ ugha 

44- ty pdz ,d ------------ fdz;k gSA 

 (a) vkdfLed   (b) lrr  

 (c) ekSleh   (d) buesa ls dksbZ ugha 

45- 'kkdkgkjh i'kq D;k [kkrs gSa\ 

 (a) dsoy ikS/ks      (b) dsoy ekal  

 (c) nksuks (a) & (b)   (d) buesa ls dksbZ ugha 

46- fdlh ?kk;y O;fDr dks D;k fn;k tkuk pkfg,\ 

 (a) /ku      (b) fpfdRlky;  

 (c) izkFkfed mipkj   (d) diM+s  

47- dhV fdl dh lgk;rk ls lkal ysrs gSa\ 

 (a) ja/kz   (b) xyQM+s  

 (c) fxyh Ropk   (d) buesa ls dksbZ ugha  

48- eNfy;ka fdl dh lgk;rk ls rSjrh gSa\ 

 (a) ia[k   (b) ehui{k  

 (c) iw¡N   (d) QsQM+s  

 
 
 

 
37. Eggs are the rich source of …………… 

 (a) Carbohydrates   (b) Proteins  

 (c) Vitamin            (d) Calcium  

38. Fill in the blank.  

 Snakes have …………. 

 (a) External Ears   (b) Internal Ears 

 (c) Two Ears     (d) No Ears  

39. Which system removes waste from our 

body? 

 (a) Excretory     (b) Respiratory  

 (c) Digestive      (d) Skeleton  

40. Oranges, Lemon, Amla etc are the rich 

source of …………….. 

 (a) Vitamin A    (b) Vitamin B  

 (c)  Vitamin C    (d) Vitamin D  

41. 70  of earth’s surface is covered with …… 

 (a) Air      (b) Water  

 (c) Sky      (d) Mountains  

42. On heating, water converts into ……… 

 (a) Ice     (b) Vapour  

 (c) Solid      (d) None of these 

43. Which organ filters the blood in our body? 

 (a) Heart     (b) Kidney  

 (c) Lungs       (d) None of these 

44. Water cycle is a ………….. process. 

 (a) Abrupt     (b) Continuous  

 (c) Seasonal      (d) None of these 

45. Herbivorous animals eat …………… 

 (a) Only Plants      (b) Only Flesh  

 (c) Both (a) & (b)   (d) None of these 

46. What should be given to an injured 

person? 

 (a) Money      (b) Hospital  

 (c) First Aid      (d) Cloths  

47. Insects breathe with the help of: 

 (a) Spiracles     (b) Gills  

 (c) Moist Skin    (d) None of these 

48. Fish swims with the help of: 

 (a) Wings     (b) Fins  

 (c) Tail      (d) Lungs  
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49- nhikoyh ------------ dk R;ksgkj gSA 

 (a) jaxksa   (b) ukoksa   

 (c) izdk’k   (d) jkek;.k  

50- VkbZYl ,oa f[kykSus bR;kfn cukus ds fy, fdl feV~Vh 

dk iz;ksx fd;k tkrk gS\ 

 (a) nkseV   (b) fpduh  

 (c) ckyq   (d) buesa ls dksbZ ugha 

51- Qwy fdl ekSle esa f[kyrs gSa\ 

 (a) ljnh   (b) xjeh  

 (c) clar   (d) o"kkZ   

52- Xyksc fdldk ekWMy gS\ 

 (a) lw;Z dk   (b) panzek dk  

 (c) i`Foh dk   (d) buesa ls dksbZ ugha 

53- iVk[ks tykrs le; gesa fdl izdkj ds diM+s iguus 

pkfg,\ 

 (a) lwrh   (b) js’ke h  

 (c) fluFksfVd   (d) buesa ls dksbZ ugha 

54- dSje ,d ----------- [ksy gSA 

 (a) cká   (b) vkarfjd  

 (c) cká o vkarfjd  (d) buesa ls dksbZ ugha 

55- ikuh fdrus :iksa esa ik;k tkrk gS\ 

 (a) ,d   (b) nks   

 (c) rhu   (d) pkj   

56- fuEu esa ls dkSu 'kjhj ds fofHkUu Hkkxksa dks fu;af=r 

djrk gS\ 

 (a) ân;   (b) QsQM+s  

 (c) efLr"d   (d) iSj   

57- fuEu esa ls fdl Qy esa dsoy ,d cht gksrk gS\ 

 (a) larjk   (b) iihrk  

 (c) dsyk   (d) vke   

58- fuEu esa ls dkSu vU; tkuojksa dk ekal [kkrk gS\ 

 (a) ykseM+h   (b) ?kksM+k   

 (c) xk;   (d) gkFkh   

59- i`Foh dk vius v{k ij ?kqeuk D;k dgykrk gS\ 

 (a) ?kq.kZu   (b) ifjdze.k  

 (c) (a) vkSj (b) nksuks   (d) buesa ls dksbZ ugha 

60- fuEu esa ls Hkkjokgd i'kq dkSu&lk gS\ 

 (a) ?kksMk   (b) HksM+   

 (c) xk;   (d) cdjh  

 

 

 

49. Fill in the blank.  Diwali is a festival of …… 

 (a) Colours     (b) Boats  

 (c) Lights      (d) Ramayan  

50. Which soil is used to make tiles and toys? 

 (a) Loamy      (b) Clayey  

 (c) Sandy      (d) None of these 

51. In which season flowers bloom? 

 (a) Winter     (b) Summer  

 (c) Spring      (d) Rain  

52. Globe is a model of: 

 (a) Sun     (b) Moon    

 (c) Earth      (d) None of these  

53. While burning crackers, one must wear 

………… clothes. 

 (a) cotton     (b) silk      

 (c)  synthetic     (d) none of these  

54. Carrom is an ………… game. 

 (a) outdoor     (b) indoor    

 (c) out/indoor     (d) None of these  

55. How many states of water are there? 

 (a) One     (b) Two  

 (c) Three      (d) Four  

56. Which of the following control the different 

parts of our body? 

 (a) Heart     (b) Lungs  

 (c) Brain      (d) Legs  

57. Which of the following fruits has only one 

seed? 

 (a) Orange     (b) Papaya  

 (c) Banana      (d) Mango  

58. Which of the following eats flesh of other 

animals? 

 (a) Fox      (b) Horse  

 (c) Cow      (d) Elephant  

59. The earth spins on its own axis, it is called: 

 (a) Rotation     (b) Revolution  

 (c) Both (a) & (b)   (d) None of these 

60. Which of the following is a load carrying 

animal? 

 (a) Horse     (b) Sheep  

 (c) Cow      (d) Goat 

 


